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SipzikA BREE MAEHK | BEFEHK | B&| FEEIY F# | AB | ABE| HiEg =5

FBA1524E 45 46 o 3KB 4 4 X
ABFN534E 45 45 = 3KB 12 9 X

[SEZSEN RAFN54 4 45 44 = 3KB 4 4 85% X
PR 154 30 20 AZ| 1LDKY 4 O
FRR 154 30 20 AZ| 2LDKY 2 O

HEFHR TR 134 30 22 AZ| 2LDKY 10 9] 90%| O

sl RS54 45 43 = 3KB 8 7 00% X
FBA1564E 45 42 o 3KB 5 X

B9 RR FR1TE 30 18 AZ| 2DKY 7 71 100%| O
FBA1564E 45 42 o 3KB 4 3 X

RERHRTF T EEY RRFN5T7 4 45 41 f— 3KB 10 8  75% X
FBAI584E 45 40 = 3KB 6 4 X

FRERHIR ABFN63E 30 35 AFE| 2DKY 10| 10| 100%| O

& rip RBA524 45 46 = 3KB 13| 12 045 X
RBAI534E 45 45 o 3KB 4 4 X

. %@?12& 30 23 AZ| 1LDKY 6 5 929 O
FRR124 30 23 AZ| 2LDKY 6 6 O
RBAI544E 45 44 o 3KB 12| 11 X

L6 75%
RS54 45 43 = 3KB 8 4 X
RBFN424E 30 56 5 3KB 10 5 149 X S&E=1E
RRFN44E 30 54 g 3KB 8 3 X S&EE=LE
ABFN594E 45 39 = 3KB 10 9 X

EEE ABFN60E 45 38 = 3KB 10 9 X
ABFN61E 45 37 = 3KB 8| 88% X
ABFN624E 45 36 = 3KB 6 X
FBA1634E 45 35 o 3KB 3 X
FBA1634E 30 35 A=Z| 3DKY 6 4 O
FRL1EE 30 34 A=Z| 3DKY 12| 12 O

B $@2¢ 30 33 A=Z| 3DKY 11| 10 929 O
FRL3E 30 32 A=Z| 3DKY 10 9 O
T RS A 30 30 A=Z| 3DKY 8 8 O
TRk 6 30 29 A=Z| 3DKY 4 4 O

BEEE (EREE) ABF0554E 38 43 CB|3LDKY 4 41 100%| O

BEELEE RBFNS7E 45 41 = 3DKY 2 0 0% O

FEFREERETE FBA1634E 30 35 RF - 1 1| 100%| O

BHREEEEE ABFN53E 30 45 RFE - 2 2| 100%| O

&&t 254 215  85% O :106
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